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ENGLISH VERSION
Pipe A can fill a tank in 20 minutes and Pipe B in 30 mins and Pipe C can empty the
same in 40 mins. If ail of them work together. find the time taken to fil! the tank.
(A) 17 :;— mins {B) 20 mins (Cy 8 mins (D} none of these
Thirty men take 20 days to complete a job working 9 hours a day. How many hour a
day should 40 men work to complete the job?
(A) 8 hrs (By7 5 hrs (CY 7 hrs (D)9 hrs

Find the smallest number in a Geometric Progression(GP) whose sum 15 38

and product is 1728.
(A) 12 (B) 20 {Ch 8 (D) none of these

A boat travels 20 kms upstream in 6 hrs and !8 kms downstream in 4 hrs.
Find the speed of the boat in stll waier and the speed of tne water current?

(A) % km/h (B) ;—2 km/h (C) 5 km/h (D) none of these

A car takes 3 hours to cover a distance of 180 kms. If the distance is to be covered in
5/2 hours, what should be the speed of the car 7
{A) 72 kms/hr (B) 90 kms/hr (CY 36 kms/hr (D) 60 kms/hr
Lee is 6 vears elder than her sister Sue and John is 5 vears elder than Lee. [f total of
their ages 1s 41 then Sue’s age is?
(A) 19 years (B) 10 vears iC)y 14 vears (D) 8 years
ABCE is an isosceles trapezium and ACDE is a rectangle such that AB = 10 and
EC = 20. What is the length of AE?
{A) 15 (B) 20 (OH10 (D) none of these
Mr. Shah decided to walk down the escalator. He found that if he walks down 26
steps. he requires 30 seconds to reach the bottom, However, if he steps down 34 stairs
he would only require 18 seconds to get 1o the bottom. If the time is measured from
{he moment the top step begins to descend 1o the time he steps off the fast step at the
bottom. find out the height of the stair way in steps”
(A) 30 steps (B) 46 steps (C) 20 steps {D) none of these
Length of a tangent from a point P at a distance of 5 cm from the center of a
circle is 4 cm. What will be the radius of the circle?
(A)5cm (B)7 cm (C)9cem (D)3 cm
I£ 12 men can do a piece of work in 80 days, in how many days will 16 men do it?
(A} 60 (B) 50 (CY35 (D) 45
The angle berween the hour hand and the minute hand of a clock at time 5:35 1s.

. . Q
(A) 60° (B} 40° (Cy4Z - (D) none of these
A mar wants to cover a distance of 50 kms by bicycle. He goes at the speed of 12.3
km/h and takes rest for 20 minutes after covering each 12.5 km. How much time will
he take to cover the whole distance?
{AY4 hrs (B) 5 hrs {C) & hrs {D) none of these
A wire in the form of a circle of diameter 2lcms is cut and bent to form a square. The

side of the square is (assuming 70 = 22/7)

(A)33/2 (B) 33 (C) 34 (D} 35

A drinking glass, of height 14 cm. s in the shape of a frustum of a cone. The
diameters of its two circular ends are 4 cm and 2 ¢m. Find the capacity of the glass.
(A) 103 em® (B) 102 cm’ (C)102. 67 cm® (D) 101cm
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A toy train crosses 210 and 122 meter long tunnels in 25 and 17 seconds respectively.

13.
The length of the train is
(A) 60 m (BYy73m {C140m {DYyé5Sm
6. Which data mpur method does mainly banks use for processing bank cheques 7
(A) OMR (B) Bar Code Reader (C)MICR (D) Light Pen
i7. Left or Right indentation in paragraph setting of MS-Word determines distance from
A) Left or Right Margin B) Left or Right Page Boundary
C) Gutrer Position ) None of the Above

Directions:  Assume this data to answer questions from 18 to 20
A company has many sales persons selling different type of goods in various
states. 11 has recorded the following data for one month by various sales persons

iname columny).

AR € D
‘1 |state |Name!Type. Sale
2 [PB_ jRavi Pen 3571
3 {HR . |Ram |Dairy 3338
4 |HP_ '|Sham Pen 5122
5 |CHD |Raju |Dairy 6239 |
6 |DEL_|vasu-iProduce |8677
7 |RAJ Bedi Copy 450

g UK |Simi [Copy  |7673
9 up__|Goel |Produce 1664
10 UK  |Garg |Produce 1500
11 {MP  |Sita |Meat 6596

18, The formula =COUNTIF(C2:C11."*uce") in cell D12 will result in

Ayil Bj2 vl Dyo
19,  The formula =SUMIF(C2:C11,"=Pen",D2:D11) in cell C12 will resuit in
A) 8693 B)2 Cy 35871 msiz2
29. The formula :CONCATENATE(_REPT(0,3),RIGI-{T(DT,3)) in cell E8 will result in
A) 450000 B) 0.450 3 000450 D} 450.000
21 Format Painter in MS-Office 1s used te
A) Paint the figures B) Copy format from one place 10 another
C) To paint various tables D) To insert tigures using Paint Brush
22. You want to use multiple operating sysiem like linux, windows €1c. concurrently on

single machine. The best way t0 achieve this 1s:

A) Make machine multiple bootable iike using GRUB
B) Use virtualization software like VMWare

C) It is not possible

D) None of these

23, 1In the context of MS-EXCEL spreadsheet softivare, te process of 1dentifying
specific rows and columns so that certain columns and rows are always visible on

the screen is called
A) Freezing B) Locking C)Selecting D) Fixing
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Today's desktop computers have typically *X" amount of main memory. Y’ speed of
processor and ‘7' amount of hard-disk memory. Approximately X, Y, Z can be

respectively.

AY4GR, 3kHZ, 1000GB By 4MB. 3MHz, 1000MB

Cy4GB. 3GHz, 1000KB Dy 4GB, 3.2 GHz. 100068

Which of the following is not a hard-ware:

Ay Hard-disk B) RAM {} Processor D) MS-Otfice

From what location are the Ist computer instructions available on boot up of

Windows OS?

A) ROM BIOS B) CPU ) beot.ini D) CONFIG.SYS
You just installed a new IDE hard drive, but your svstem BIOS will not recognize the
new drive, what should you check first.

A) drivers that need to be loaded B) jumpers on the hard drive
() cable sequence D} hard drive manutacturer web site information

Which of the following operating svstem vou most likely will use on your laptop:

A) MS-Office B) Internet Explorer

C) Windows 7.0 ) Mozilla FireFox

Which type of printer works by using a charged drum to deposit particles of ink on
the paper?

A) Thermal printer. B} Inkjet printer.

C) Laser printer. D} Dot-marrix printer.

Mail merge is a feature likely to be found i which of the following software
packages?

A} Email program B) Desktop publishing program

C) Spreadsheet. D) Word processor

Which of the following may connect different international offices of & business?
A)LAN By WAN C) PAN D) CAN

Gaining un-authorized access to a computer sysiem would fall under which category
of compurer crime?

A) Data theft. B} Theft of services.

C) Destruction of data and software. D) Hacking.

What is a motion path in MS-PowerPcint”

A) A tvpe of animation entrance effect B) A method of advancing slides
Cy) A method of moving items on a shide 2y All of the above

In the context of animations 1n MS-PowerPoint, what is a trigger?

A) An action button that advances to the next slide

B} An item on the slide that performs an action when clicked

C) The name of a motion path

D) All ef above

Which of the following kev will not advance the slides in a slide show in case of MS-

PowerPoint?

A) The esc key B The space bar

C) The enter key D) The mouse button

A creates copies during replication that are functionally
equivalent but have distinctly different bit patterns.

A) Boot Sector Virus B) Polymorphic Virus

C} Parasitic Virus D) Macro Virus
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50.

You pertorm banking operations online. Which of the following are application-levet
encryption protocols that you would most likely use to securely bank online”?
A) SSL and SET B) Verisign and SHAI

3y READY, SET, and GO ) PGP, PEM., and SSL

In the context of MS-EXCEL spreadshest software, what happens when dollar
signs ($) are entered in a cell address? (ex. $B$2:$BS100)

A)An absolute cell address 1s created.

B) The cell address will change when 1t s copied to another cell.

C)The sheet tab is changed.

D) The status bar does not display the cell address.

1n order to enhance performance of the computer, Disk defragmenter

A) consolidates parts of files lying at different locations on computer’s hard disk
B) deletes temporary files related to Internet.

C) deletes temporary files related to backup.

D) All of the above.

The Recyele Bin is an area in Windows Operating System that contains only:
A)Files deleted from the hard dnive.

B)Files deleted from CD-ROM

() Files deleted from a 3.5-inch tloppy drive.

D3Only B) and C)
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(A HIET (B) AGdT (C) femha (D) ATUgS
52. ‘ot &t
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(A) BEH (B) AteSt () ASHI=ST (D) A a3t

Directions (Q.54-56):-  Choose the correct preposition 1o be filled in the gaps in the
following sentences out of the four given options:-

54. Seeta finally managed to break free ...... her attacker.

{(A) from (B) with {CY by (D) through
58 ] wish she knew what she was drniving ...

(A} by (B} at {C)on (D} off
56. Venkat was lucky to get ..... with a smal! fine.

(A)on (B) through (Coft D) by

Directions (Q.37-60):- Choose the correct synonym of the following out of the four
given options:-

537, Adduce

iA)Y Cite (B) Reduce (C) Subtract (D) Addict
58. Debauched

(A) Cruel (B) Depraved (C) Dangerous (D) Bleached
39.  Exasperate

(A} Entertain {B} Exhaust (C) infuriate (D) Attract

60.  Impolitc

{A) Apoiitical (B) Impolite {C) Political (D} Unwise
Directions (Q. 61-63):- Choose the correct meaning of the following idioms out of the
four given choices :-

61. To nail one’s colours to the mast
{A) to be a good sailor (B) to be accessible 10 all
(C) to be pessimistic (D) to refuse to surrender
62. To come to a head
(A) to reach a crisis (B) to attain perfection
(C) to master something (D) to climb a mountain
03. To leave someone in the lurch

A)to aspire for his/her friend’s position B)to desert someone in a helpless condition
C) to plot a conspiracy [3) to rob somebody in a journey.

Directions (0.64 & 65):- Choose and mark the correct sentence out of the four given

options:-

64. (A) The population of London is greater then Jaipur.
(B) The population of London is greater than Jaipur.
(C} The population of London is greater than that of Jaipur.
(D) The population of London is greater than the city of Jatpur.

65. (A) Sachin is the greatest of all other batsmern.
(B) Sachin is greater than all the batsmen.
(C) Sachin is greatest of all other batsmen.
(D) Sachin is the greatest of all batsmen.
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Who said “We are not Sikhs or Punjabis our religion: was patriotism™

A) Sohan Singb Bhakna B) Lala Hardyal

C) Kartar Singh Sarabha D) Bhagat Singh

Who signed the Treaty of Amritsar (1 809) on behalf of British Government
A} William Bentick B) Lord Auckland

() Charles Theophilus Metcalfe D) Sir George Barlow

1n which Cricket Test Match did the wicket keepers of both the teams bowl”
A) South Africa Vs India 1% Test 2013

B) England Vs Australia 2 Test 2013

C) West Indies Vs New Zealand 2™ Test 2013

Dj Pakistan Vs Sr: Lanka 1% Test 2002

Which of the following sets of princely states are termed as Phulkian States?

A) Patiala, Malerkotla, Nabha B) Patiala, Jind, Malerkotla
C) Patiaia, Nabha, Jind. Kapurthala D) Patiala. Jind, Nabha
Match the following:

T River ___Ancient name of river ;

1 Beas a4 Vipasha

2. Rawvi "b.  Parushani

L3 Chenab C. Astkint -

4. Jhelum d Vitasta

A)la.3c.3d,8b  Byla2b.3e.4d O 1b.2d.3c 42 D)ld 2c,3b,da

The subtitle of 127 Five Year Plan 1s

A) Growth with Justice

B) Growth with Social Justice

C) Faster. Sustainable and More Inclusive Growth
D) Accelerated Growth and Inciusive Grewth

World War 11 is often considered to be a turning point in history because

A) the League of nations demonstrated thal an international organization could
maintain world peace

B) the war brought an end to dictatorships as a form of government

C) European domination of the world began to weaken as nationalism in colonies
increased

D) religious and ethnic differences were no longer a source of conflict between

nations

Theory of Economic Drain of India during British Imperialism was propounded by
A) Jawahar Lal Nehru B) Dada Bhai Naoroji

C)R.C. Dutt Dy M.K. Gandh

National Statistical Day is celebrated in India in the honour of

A) Amartya Sen B) Radha Laha

CyC.R.Rao D) P.C. Mahalanobis

Which one of the following il fields of India is the oldest oil producing field?

A} Bombay High B) Digbot Cj Ankleshwar D)} Naharkatiya
Yeilow Book 1s

A) official publication of Italy and Iran B) official publication of Netherlands
C) official book of French D) official report of the Japanese Govt.
In Indian Polity which is supreme

A) The Supreme Court B) The Constitution

C) The Parliament D) Religion
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The first hour of every sitting of the Lok Sabha is called

AY Question hour B) Public hour C) Zero hour D) Privilege hour
During which of following decades did population record a negative growth rate
AY1921-31 B) 191i-21 Cy i641-31 D) 1931-41

Ladli Laxmi Yojna has been launched for supporting girls ot all religions and castes
upto their marriage by

A) UP Government By MP Government

Cy Harvana Government D} None of the above

If the Cash Reserve Ratio 1s lowered by RBI. 1ts tmpact on credit creation wil! be

A) favourable B} adverse () both favourable and adverse D) no impact

Which of the following disease is caused by virus
A} smali pox B) tubercuiosis C} malariz D} typhoid

Fish respire through the

A)nose B) fungs ) giils D) fins
One should not sleep in a closed room where a charcoal fire is burning because
A) Charcoal produces carbon monoxide which decrease oxygen content 1n atr
B) Charcoal produces carbon dioxide which is mnjurious to health

() Charcoal increases temperature in the room

2) none of these

in an earthen pot cooling of water depends upon

A} outside temperature B atmospheric humidity

C) wind Dy all of these

The scientist who first discovered that the earth revolves round the sun was

A) Newton  B) Dalton ) Copemnicus D) Einstein

Which country awards the Nobel Prize

AYUSA B) Sweden CYUK DY Ireland

Which Cricketer has been appointed brand ambassador of Border Security Force”
A) Sachin Tendulkar B) Virat Kohli C) M.S. Dhoni D) Rohit Sharma
Miss Universe 2013 Gabriela Isler is from

A} Venezuela B) Finland ) Greece D) Australia

Rating Agency ICRA slashed India’s GDP growth estimate to ___in Financial
Year 2014.

A) 4.9 percent B) 3.9 percent () 4.1 percent D) 4.3 percent

In a certain code, ‘REFRIGERATOR is coded as ‘ROTAREGIRFER’. How would
the word *NOITINUMMA" be coded?

AY ANMOMIUTMI B} AMNTOMUIIN

) AMMUNITION DY NMMUNITIOA

According to certain code

i) ‘min fin bin gin’. means “trains are always late’

i) *gin din cin hin’, means * drivers were always punished’

iii} ‘bin cin vin rin’, means ‘drivers stopped all trains’

iv) *din kin fin vin’, means ‘all passengers were late’

then ‘hin min kin® would mean

A) always late trains B) passengers are punished
C) all passengers late D) passengers are late
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If the animals which can walk are called ‘swimmers . animals who crawl are called
flying’, those living in water are called ‘snakes’ and those which fly in the sky are
called ‘hunters’, then what will a lizard be called?

A} swimmers B} snakes C) hunters D) flving
Which one set among the following is similar to given set

Given set : (8,3, 2)

Alternatives:

A) (10,6, 3) B) (63. 8. 3) C) (95, 24, 33 D) 168, 15, 4)
Find the pair among the alternative having the same relationship as the first pair has
Aryabhatta : Mathematician : Varahamihira:

A} Physician B) Astronomer () Scientist D) Architect
Find the one that does not belong 10 the group 2,3, 9.27. 112, 565, 3396

A) 565 B)¢ Cy 11z D) 27
Complete the series  C. Z. F.2XLL VLT, 0,77

AYO, F By P.Q YRR MS. KR

The given series of letters have a definite patiern. Some terms are missing 1n the
series. One among the given alternatives has the same order
Given series: abca  bcaab ca _bbc _a

Alternatives:

A) ccaz B) bbaa C) abac D) abba

Find the wrongly matched pair

1} Lion — roar i1) Snake — hiss ii1) Bees — hum iv} Frog - bieat
v) Dog — bark

A) (1) B) (i) C) (i) D} (iv)

Out of 4 groups below, 3 are alike in a certain way, one is difterent. Choose the
different one

i)JjkNors MHhiMnpg i) eDGhkI WipgTUxy
A} (D) B) (i) C) (ui} D} (iv}

Find the next term 8, 28, 116, 584, 7

A) 1752 By 3504 ) 3508 D) 3302

Pointing to a lady in a photograph, a lady tells Pramod, “fam the only daughter of
this iady and her son is your maternal uncle™. How is the lady related to Pramod’s
father”

A} sister-in-law B) wife C) sister Dy mother

if*P $ Q" means ‘P is father of Q'.'P # @ means ‘P Is mother of Q7. "P * Q" means
‘P is sister of (¢, then how is D related to N in N#ASB*D 7

A)nephew B} grandson C) granddaughter D) granddaughter or grandson

B is the husband of P. Q is the only grandson of E, who is wite of D and mother-in-

iaw of P. How is B related to D?
A) nephew B) cousin C) son-in-law D} son

Three persons A, B and C wore shirts of black, blue and orange colours { not
necessarily in that order) and pants of green, yellow and orange colours { not
necessarily in that order) No person wore part and shirt of same colour. Further, A
did not wear black shirt, B did not wear biue shirt, C did not wear orange shirt, A did
not wear pant of green colour, B wore orangz pant,

What were the colours of pant and shirt worn by C, respectively”?

A) yetlow and black R) vellovs and blue

() green and blue D) crange and black
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In the Olvmpic games, the flags of 6 nations were flown on the mast in the following
manner: The flag of US was to the left of Indian flag, and 1o the right of French flag.
The Australian flag was to right of Indian flag but was to the left of the flag of Japan.
which was to the left of the flag of China. Find the two flags which are in the centre
A} India and Australia B) US and India

C) Japan and Australia D) US and Australia

Read the following information and answer the question

1} Gopal is shorter than Ashok but taller than Kuna

11} Navin is shorter than Kunai

i} Jayesh is taller than Navin

iv) Ashok 1s taller than Jayesh

Who is tallest among them

A) Gopati B) Ashok ) Kunal D) Javesh

A sales represenzative plans 1o visit each of 6 companies M, N. P. Q. R and S exactly
pnce during the course of one day. She is setting up her schedule for the day
according to following conditions

i} She must visit M before N and R

ii) She must visit N before @

i) The 3™ company she visits must be P

Which of the following could be order in which she visits companies

AYM, S, P.N,R.Q BYQ.N.P.R, S, M

CyM,R.N.Q, P, S DiP.S.M.OR,Q.N

Read following information and answer Q. Nos. 109, 110

199.

110.

1l

112.

113,

On a plaving ground, Dev, Kumar. Nilesh, Ankur and Pintu are standing facing North
1y Kumar 40m to right of Ankur i1) Dev is 60m to south of Kumar
ii1) Nilesh is 25m to the west of Ankur iv} Pintu is 90m to North of Dev

If a boy walks from Nilesh, meets Ankur followed by Kumar, Dev and then Pintu.
How many metres has he walked, if he has travelled the straight distance all through?
A)215m By 155m Cy245m D) 185m

Who is at the North-east of the person wio is to left of Kumar”
A Nilesh B) Ankur ) Pinw } either Nilesh or Dev

Two buses start from the opposite poinis of a main road, 150 km apart. The first bus
runs for 25 km and takes a right turn and then runs 13km. It then turns left and runs
for another 25km and takes the direction back to reach the main road. In the
meantime, due to a breakdown, the other bus has run only 35km along the main road.
What would be the distance between two buses at this point?

A) 65kms B) 75kms C} 80kms D) 85kms

Find the number of triangles in the Fig.

A)28 B)32 C) 56 D) 40

Which one of the following combinations would have the identical water-image.

AYBCDFZK B)BCDEZK C()ZKOEDB D)BCDEOK

D - Page 11 ¢f 30



114,

Complete the Fig. by replacing question mark (?) from given alternatives in Answer

Fig.

®]| X | X
@ |D |1+
A || 2

— | X[X]©

A B C LH

A)B B)C D D} A

Observe the dorts on a dice (one to six dots) in the following Fig. How many dots are

contained on the face opposite 1o that contatning four dots?
A)2 B)3 Cré D) cannot be determined.

Replace the question mark in the Probiem Fig. with an alternative out of Answer Fig,

toe H® DB

D

(T
b o]~

—_

A B

f

A) A BYB Gy C D)D

The {ollowing problem contains four un-numbered Figs forming the Preblem Set and
5 other Figs numbered 1,2,3,4.5 forming the Answer Set. The 4 problem figures have
certain common features. Select a Fig. from Answer Figs. which posses the same
features as the Figs in Problem Figs.

o o0 * o 'HO ol o ® 00 00 o

| | . P ® o | ® g _e0se o |

& ® ® 000 0 e oo e%eje o o
1 2 3 4 5

A) i B) 2 )3 D)5
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Q. Nos. 118 to 121, refer to the following Venn diagram:

1ls.

119.

120.

121.

History

_m___‘_‘(
“f .
Y

- % Geography

A )

s .
s | 4 ‘/13 4z i ,
: 3

/ N e SO .
P ? 18] a6 “za\v\’ " !
‘-‘2\ ’Kk 3 ’ A
i I | 18 : ;
Ma(heima(ics\k“_)/\\_\____}//
N -
. rd
\__‘r__/
SCIEL\CE
The number of students who tock any three of above subjects
Ay o2 B) o3 ) 64 D) &6
The number of students in total who took History or Mathematics or Science was
Ay 183 B) 190 ) 202 D) 63
The number of students who took both History and Geography among other subjects
Ay 62 B} 63 Cy 63 D) 66
Which subject was taken by the largest number of students?
A} Mathematics B) Science ) Geography D) History

Read the following information and answer Q.Nos. 122-123

122.

124

11 11 students A, B. C, D, E, F, G, H, 1, J and K are sitting in a row facing the teacher.
11} D, who is to the immediate lett of F, 1s second to right of C

i) A, who is 2° to the right of E, is at one of the ends

iv) J is the immediate neighbor of A and B and 3" to the left of G

v) H is to the immediate left of IJ and 3" to the right of 1

Which of the foilowing groups of friends is sitting night of G?

AYIBJA B) ICHDF C)YyCHDF D) CHDE

In the above sitting arrangement which one among following statements is
superfluous

Adonly (1)  Blonly {in) Cionly (111 D) none is superfluous

The positions of 1% and 8" letters in the word WORKINGS are interchanged.
Similarly the positions of 2°* and 7% letters are interchanged and positions of 3" and
6" are interchanged and positions of remaining two letters are also interchanged with
each other. Which of the foliowing will be the 3 erter 1o the left of R after

rearrangements”

AYG B)I C)N D) S

In the following alphabets, which ietter is & 1o the right of the 14" letter from the
right end?

ZABCDEFGHIJKLMNOPQRETUVWXY

AYH B)R ) S D)T

[etters of the word have been jumbied up. Construct the word
‘RIMAT/A|U E
12 (3141567,

A)234,1.35.6,7 B)3,1,2.5.4,7,6 () 3,2,54.7.6.1 D) 4,1,3,2,6,5,7
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127.  If each of the vowels in the word BREAK 1s kept unchanged and each of the
consonants 1s replaced by the next letter in the English alphabet, how many
meaningtul words of four letters can be formed with the new letters using each letier
only once in each word?

A0 B! 2 D3

128, Ifit 1s possibie to make a number which 1s perfect square of a two digit odd number
using the 2", 4" and 7" digit of the nuraber 739 1 4 2 6 3 8 using each only once,
Which of the following is the 2™ digit of that two digit odd number?

Aj3 B)S )7 D)9

Directions for (3. Nos. 129 & 130:

Consider a group comprising of 4 students- Reena, Beena, Meena and Neena, who stand

in a row. Reena and Beena stand in 6™ and 7" positions respectively from the left.

Meena and Neena stand in the 4™ and 5™ positions respectively from the right. When

Beena and Meena exchange their positions, then Beena will be 15" from the left.

129, Originally, Neena’s position from the left is
A)S By i3 Cyi4 Dy 16

130. 1t Neena and Reena aiso exchange their positions betweer. themselves then after the
exchange, Neena’s position from the left is
A) 6 B) 10 ) 11 Dy 13

131.  The priest told the devotees, “temple bell is rung at regular intervals of 43 minutes.
The last bell was rung tive minutes ago. The next bell is due to be rung at 7.45 am.”
At what time did the priest give this information io the devotees”

A)7.40 am. B)7.05 am. ) 7.00 am. D} 6.535 am.

132, Which one among the following 1s mirror image of

‘MALAYALAM
(A) MALAYALAM (B) WYTyIr'viN
(C) MAJAYAIAM (D) MATAYAI'M

Study the following arrangement of symbols. letters and numbers to answer

Q.Nos. 133-135
0=PpF2*KST75#SPLV8@MUE61QG+93+TY -

133.  How many such letters are there in the arrangement each of which is either
immediately preceded by a symbol or immediately followed by a number. but not
both?

AYS By6 Oy7 DR

i34 How many such consonants are there in the above arrangement each of which s
immediately followed by a consonant but not immediately preceded by a symbol?
Aynil B) ! Oz D)3

. . . . ~ . . h
Which of the following is exactty in the middle of the 9 from left end and the 15"
from the right end in the above arrangement?

AP ByU O Lk D)L

136, Replace the question mark (7} with one of following alternatives:

—
(%)
h

AT R

R 56 1 90 2 ¢ 20 | 0

[ S— i i

A)0 B)3 Cys D)7
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Replace the question (?) mark with one of the given alternatives
A | M B | N
R € ' s Do
. E U F ?
A)G B)R S Dyv

Answer Q. Nos. 138-140 on the basis of following informations

144.

—
in
h

146.

150.

All the roads of a city are either perpendicular or paraliel to each other. All roads are
straight. Roads A, B, C, D and E are parallei to one another. Roads G, H, L, J, K. L
and M are parallel to one another

1) Road A is | KM east of road B il) Road B 1s /2 KM west of road €
ii1} Road G is ¥ KM south of road H iv) Road D is 1 KM west of Road E
v) Road I is 1 KM north of road J vi) Road K is /2 KM north of road L

viii} Road K is 1 KM south of road M

Which of the following is necessarily true

A) E and B intersect ByDis 2 KM westof B

C) D is atleast 2 KM west of A D)Mis 1.5 KM northof L

If K is parallel to I and K is %2 KM south of J and 1 KM north of G, which two roads
would be ¥2 KM apart?

AyKand! B) I and K Cyland G DyJand H

If road E is between B and C, then distance between A and D 1s

AYY: to 1.0 KM Byl KM Cyl.5w0 2 KM D202 5KM

The value of a for which the points (& + 5, & — 3), (a - 3, @ + 3}, (a, @) arc collinear 1s
(A) a>0 Bya<0 (C) no such q exists (D) any value of a

The day of the week on 26" June, 1816 was

(A) Sunday (B) Wednesday (C) Frniday (D) Monday

Ten persons were arranged in a circle. The probability of twe particular persons
standing adjacent to each other 1s

Ay L : o 2 D2

(A) 5 (B} = () 5 (D) 5

Three cards are drawn at random from an ordinary pack of cards. Find the probability

that they consist of a king, a queen and an ace.
12

64 64 . ., .
(A) 5100 B e () s {D)}None of these

The equation (@’ + b ¥ _2(@ac+bdyx+ct+ d* = 0 has equal roots then

(A)ab = cd (B) ad =bc (C)ad:= be (D) ab=+Vcd

A reduction of 25% in the price of sugar enables the person to get 10 Kg more on a
purchase of Rs. 600. What is the reduced rate of sugar?

{A)Rs. 25/Kg (B) Rs. 45/Kg (C)Rs. 35/Kg (D) Rs. 15/Kg
Which of the following rational numbers has a terminating decimal expansion?

129 1475 79 . B
(A) 225775 (B) 'EE (C) '?_—E (D) E
The linesx+ 2y ~4=0and 2x + 4y —12 =0 arc _
(A) Coinciding (B) Intersecting (C) Parallel (D) perpendicular

The ratio of incomes of two persons is 9 : 7 and the ratio of their expenditures is 4 = 5.
If each of them manages 1o save Rs 20 per month, then their monthly incomes are.

(A) 180, 140 (B) 18, 14 (C) 36, 28 (D) 1800, 1400
Which term of the Arithmetic Progression(AP) : 21,18, 15,...is - 817
(A) 36 (By 45 (C) 40 (D) 35
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b2

LA

10.

il.

12.

PUNJABI VERSION
uehy A feg %520%@6%@%@%830%&6’%%%
n@wﬁucfen?agmﬁ%?ﬁﬁmaaﬂa@frlﬁfwmﬁu@wm
& §95, 3T ¥ & 995 BT A HTBH T4
Ay 171 e B)20fie (C) 8 fiie (D) fegt fe aat S =t d
30 § 9 UF THaT &Y a9 & fea & & 20 fee few ¥ay gee 951 40 5 fda ule
IT 9 o5 fa feg o wan I 7
(A) 8 W B)71 U (Cy 7 Ure (D) s Ure
Geometric Progression (GP) fe9 sw3aw Hftm H@&YW o9 fAF & #3 38 M3
JETFET 1728 I< )
(A) 12 (B) 20 (C)8 D) fegT feg aet @ &3t J
fex famat Ta-ufgas 6 We feg 20 kms T8 T w3 TI-4eds 4 We 9
18 kms 9591 §1 w2 yra? feu fanat &t w3z ura? & grar € 98379 HTBH a4
(A} % km/br (B} = km/hr  (C) S km/hr (D) fegt feg' aet €t 50t 7
fexr & 180 Kms &1 ot 3 e feg 3w goet 71 7 feg gdt 5/2 ifentt few
95T §=, 3t g9 & geITd &t JT gt &
(A) 72 kms/hr (B) 90 kms/hr (C) 26 kms/hr (D) 60 kms/hr
B nmiet JT B 3 6 A% T I wd 7es 813 5 9 T A G it @neT &
a3, gt e faat T
(A) 19 A'S (B) 10 A'& (C) 14 A& (D) 8 7’8
ABCE AH-S8g A8 T w3 ACDE fea »feg § 37 AB=10 %3 EC-20. AE €t
EgTEr &
(A) 15 (B) 20 (C) 10 D) fegr feo et & &t J
fiHed 1T & WAYEST IUT JoT HTE & FHET J137) 7 687 26 o TF & I5°
Wﬁ,?@wéwmmwé309%?@@%‘1%#@334&3%#&#
=% qer § 3 @7 § Jor ofis 3T UAS 18 Afde =o€ o651 RERE AT T
@Mﬁsﬁ?ﬁﬁww?%&ﬁ?mwmmﬁszﬂﬁrémﬁmr
o, gt gevt feg G- Higar € G WEH &
{A) 30 TeH (B) 46 IeH (C)20 gev (D) feg’ fed qet & &7 J
@a@?@ﬁa‘?5cm?—ﬁ§3:|'§'}?ﬁg?ﬁam—ﬁﬁTE’TmLicmﬁ,?ﬁ{?
o fenATaa &t IS
{A)Scm By 7 cem ({C)9cem {(DY3cm
12 60 feg dWd 80 few' feg ¥z a8 AFAW 75, 37 16 ¥ forr & & &3 fext
feg gaaar:

{A) 60 (B) 50 {C) 55 (D) 45
W=t T firer =8t get wid difen I8t gl fegad 5:35 g g Jeam
(A) 60° (B) 40° (Cy42-" D) fegt fed JeT &t &t J

fog faniadt AEES GUT S0 kms T g6t 37 g@aT gge J1 €9 12.5 km/h €
mwwi‘rn@mlz.skmsmfu?zoﬁwwm{awﬁi g7
Hﬁgﬁ%mh’aﬁwwm

(A) 4 e (B) 5 Ure (C) 6 ¥E (D) fest feg et St &t T

D - Page 16 of 30



s

16.

0

21cmsméf§3é§u%€ﬁam§a?fe?wﬁm§emw@€m
St wET 1 SeAr € AT (n =227 HE Q)

{A)33/2 ‘B) 33 (C) 34 D) 35

14 cm@?mmm&sé%’m(m@m@%l @w € = FZTI
Fereot & fen™ 4cm W3 Zem J&! FBH 1 FHGE HTEW &9

(A)103 cm®  {B) 102 em’ (C) 102,67 e’ (D) 101 em’

~

feg fude argt 210 Wz 122 Hied SEhut FEaT & aHET 25 wF 17 Afde feg us
Faal T m%?e”ra"'weﬁr

{A) 60 m (BV73m (C) 40 m (D) 65 m

g aa o fiar 7T »Ie I fagat I fesye fedl (Data Input Method)
&t 293 ga¢ I

(A} OMR (Byggaz dige  (CYMICR (D) &ee IS
MS—@?@%@%@G,@#H%@W@WWW’E@TW?
gt fegurfes gaer J:

(A) ¥ET 7 AT JHT (B) (& & vl 7 A 9%
(C) areg Afgat (D)@*uﬁa—:rfeff'ﬁre?azﬁir

feg quat @ 593 Ad feadsr 96 fAad fafs gt feg < Y Ygd €7 AHS IU€
Il m%&mmﬁ@mméwmﬁmmm@m

18 320 qmﬁfé@“—aﬁé@mww;{ﬁx&a@h
AL B b .

i8.
15,
20.

21.

22.

S A B i D

1 _|State [Name Type Sale

2 |PB Ravi_|[Pen 3571

3 _|HKR Ram - |Dairy 3338

I L Lo Sham [RPen 5122

5 [cHD_|Raju !Dairy 65239

6 [DEL  [Vasu Produce BG677

7 R4 Bedi |Copy 450

& UK simi_|{Copy 7673

g |up _ |Goel |Produce 664

10 UK |Garg produce 11500

11 [mpP_ [sita  [Meat 6536
f% D12 few g9 =COUNTIF(C2:CL1, " uce™) =7 ygfeny I
(A} 11 (B) 3 (Cri D)o
fw C12 feg g3g =SUMIF(C2:C11,"=Pen’. D2:D11) & ufgem™ g=ar
(A) 8693 (B) 2 (C) 337 (D) 5122
&% E8 few 799 =CONCATENATE(REPT(0.3).RIGHT(DT,3) &7 yfgeny T
(A) 450000 (B)0.450 (C) 000450 (D) 450.000
MS- nivfaw feg grave Uea <t =93 faw Iwd gt At O
(A) fearg Uz g95 BET (B) few gt Z gt & 3 andt 7T

(jC)fef?xmﬁwﬁir‘zmm (Dj%gﬁﬂﬁ%ﬁ?aﬁmmlmmgﬁ
gAT feamémmgﬁm,fééamaaﬁfaﬁ@uﬁw;fﬂﬂ?mé
sFFaeat e J1 fen g mm@ﬁ?mmﬁ:
(A)W@@—@WW@?#{%GRUBET%H?&W

(B) VMWare 2397 @RIfeaiads Aeeend Bf 793 9307

() feg Frge &dt J

(D)fsrff—e*é*é’e’rérmi‘r
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24.

28.

29.

[¥%)
L4

34,

MS-EXCEL@E@??@?‘%‘ME@W@,@HWM@W@W\ &
W?ﬁﬁﬁﬁmwmaﬁwm@wmmng@aﬁ
(A Sfear (ByBfaar () fr@afea (D) feafrar

mmééﬂaﬁuarm@?w%aﬁgmaaﬁwﬁ}m@ ‘X' HTIET, YA 1Y
S M3 TgE-TeRe Mret &1 7 HgET geT I XYL FHIF BIFTT T HIET T

A)4GB, 3kHZ, 1000GB B1 4MRB, 3MHz, 1000MB

() 4GB, 3GHz, 1000KB D) 4GB, 3.2 GHz, 1000GE

g9 2w faasr &t J:

(A) TeF-fana (B) RAM (CyTFme (D) MS- mrfen
fao=t mfadt 3 €37 OS %gz—m*qémwméﬁ@%aﬁeﬂ%?@mm;
{A) ROM BIOS (B} CPU (C)poot.ini  {D) CONFIG.S5YS

gt g &<t IDE mmm,@,mmosmmﬁm§
weftog w4t g3 IS ufast @ 9 g9aT IrateT &

(A) FrEeTT fAgt & &3 a96 € 89 J (B) TF FEE I HYTH

(C) TEs A (D) 39T T feaTEgesT I HUSU GuT FIET
ST oS e e o nmid Bud Gug TS €IS Fad

{A) MS-mTfeR (B) feedde MIWUBI

(Cyfeda 7.0 (D) AfA%T gfed Ean

m@whwﬂéu%u@ssﬁméyéa@*aaﬁﬁ?&aﬁﬁﬁfam
& Jget 3

A) v fi2ZT B) feamie fiea C) &=d fiee D) Se-Hfean fieg
%Hﬁ&ﬁéﬁ%hﬂéhﬂ%ﬁ?éﬂﬁﬁﬁﬁf@?ﬁmﬁmrﬁz

(A) BT-H8 Uary (B) SHEEY U=fSTHaT {5

(C) RUFHTE (D) <9F UAAd

(A} LAN (B) WAN (C) PAN (D) CAN
ﬁ@ﬁhﬁmn@—mmm,éﬁ@wwé&m}mkﬁ
HIEIT

(A)ZTeT 941 (B A=t € 94t

(C) 57T T Heeanid § ¥3H qI57 (D) Jfarar

MS- UrEauifee feg argt wraar at J:

(A) m’—mﬁqﬂmém (B) FSTEYE & nidl aas = fedt

(C)M%H@@W@Eeﬁ.&?@ (D) §udaz Ad

MS- lmwﬁzﬁqw-ﬁ@aﬁémﬁsﬁ,maﬁr%z
(A)W%W?W@W’a’éﬁmﬁ
(B)m@awmwmﬁmmémm@ﬁ

(C) ITST-Hraar & &7

(D) EuIgs A9

Msareg e € aw few, faust o WETEs USdnRs few RgTEFT § W &7

Gk
(Ayescdt  (Bymyyad (Cywes at (D) WA 928
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36.

38.

39.

40,

41.

42,

43.

44

45.

46.

48.

——————— u@@%ﬁéﬂ%mﬁnﬁaw%maﬁnﬁmé’aérmm,uég

fest & fae leas feim gu feg fam 78

(A) §€ Aged Trean (B) Ughisfes =fean

¢y Uarfafea =rfean (D) Hg FTfedr
gﬁmmmmmmmémmﬁmaw
(A) SSL w3 SET (B) Verisign 3 SHAI
(CY)READY, SET "3 GO (D} PGP.PEM »g SSL

MS-EXCELWW@W@,H?%%@M@W(_ss)en

U= &g \weT I7 (ex. $BS2:585100)

(A)ﬁmfe??fwﬁs%ﬂa@fewwir@

(B) BE #EI GF AN ges wear A feR g forir w5 fi® feg amff ataT wrear

(C) Hie 29 gem 7eT d

(D) Feer ¥ FE SR § &4 fewrg el

aﬁ@ﬁwmeﬁﬁzm,%ﬂaﬁ%mﬁw:

<A)W@W-W%WW§WW@W#§W
JaaT J

(B)féza%—c'wﬁé’fu?mm+§ﬂw@?5

(C}%&—WWWW&W@W@?%

(D) Gugas A
mm,%ﬁwmm@am%mfﬁmﬁmw&
(A) TS FElR T T IEHT (B) CD-ROM F &Pt ereta”
(_(:)3.5—%3@5;@??@#3@@ (D) &=T (B) A3 (C)
WW@W’S"%H@:

(A) §779 (B)H'g (C) Qurg (D) #i=
g Gt WruEt of - Jer ¥ »yre ydt ad

(A) ZAHS J€7 T (B) U &I ge7 J

(Cyrfegr = (D) yafemm ger d
ww&mwamﬁma

(A) s (BY& (CYAZ (DY
@,@,E?Ha?ﬁafgfhmﬁfe@'aﬁ‘aﬁ:

(A) TAd (B) ferfia (C) fafan (D) FEUd
‘2 gue 27 99998 &

(A) fantt (B) & (C) BPAT (D) &=t
Wén@?@z—m@mwwwmﬂ*w

A fas (B) 99 (C) I (D) &
‘Wg@ﬂéﬁq@w@:va*’m%f&@ﬁ%aﬁi

(A) YIS I T8 (BYWTEEEST g3 T8

(C)y mft g3 T8 (D) MUds I3 B

fafan fefme € fdd gu 3% I&:

(A) " S (ByF & O & (D) TH
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49, Wm?mﬂsgu%

() gt (B) GraaT (C) g7 (D) Grret FgE
50. yigrs HET v % I e O
(A)TETU (BYFEUT (Cy A HL (D) A+d
5. maﬂmgmw@mmﬁmww&—émT%
(A) RIS (B) Age T (C) ferva (D) ATUTIE
5. ‘grewdl & @
(A) TTHT (B) GU-s™H" (C) feraas (D) faft
53. mmﬁmmmmwgfﬁwwa
(A)BEE (B) A=Y iC) ASHI=H! (D) T

Directions {0.54-56):-  Choose the correct preposition to be filled in the gaps in the
following sentences out of the four given options:-

54 Seceta finally managed to break free . ... her attacker.

{A) from (B) with (C) by (D) through
55, I wish she knew what she was drrving ...

(A) by {Byat iC)on (D) off
56, Venkat was lucky to get ... with a small fine.

(Ayon {B) through {C) oft {D) by

Directions (0.57-60):- Choose the correct synonym of the following out of the four
given options:-

57.  Adduce

(A) Cite ' (B) Reduce (C) Subtract (D) Addict
58. Debauched

{A) Cruel {B) Depraved (C) Dangerous (D) Bieached

55. Exasperate
(A) Entertamn (B) Exhaust (C) Infuriate (D) Attract

60, Impolitic
{A) Apolitical (B) Impolite (C) Political (D Unwise
Directions (Q. 61-63):- Choose the correct meaning of the following idioms out of the

four given choices :-

38 To nail one’s colours to the mast
(A) to be a good sailor i B) to be accessible 10 all
{(C)to be pessimislic D} 10 refuse to surrender
62. To come to a head
(A) to reach a crisis (B) to attain perfection
(C) to master something {D) to climb a mountain
63. To leave someone in the lurch

A)to aspire for his/her friend’s position  I3)to desert someone in a helpless condition
C) to plot a conspiracy D) to rob somebody in a joumey.

Directions (Q.64 & 63):- Choose and mark the correct sentence out of the four given

options:-

64. (A) The population of London is greater then Jaipur.
(B) The population of London is greater than Jaipur.
(C) The population of London is greater than that of Jaipur.
(D) The population of Londen is greater than the city of Jaipur.
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H6.

67

68.

7G.

72.

73.

74.

i A) Sachin is the great

est of all other batsmer.

(B) Sachin is greater than all the batsmen.
(C) Sachin is greatest of all other batsmen.
(D) Sachin is the greatest of all batsmen.

feg wae fan € 7& “mﬁwmﬂwéwaﬁm,wméﬂ—mﬁi”_

(A) A< fAw gasT (B) %" Safe®

(C) a3Tq fiw sagT SOEEIER Y

wifigma <f AUl (1809) GUT 53R AITT TH fon & SRIHT 13
(A) festmr gfea (B} B85 MaB F

(C) grasH faGfesn vea= (D) ®F AgH TS

f‘aaa%nzhazﬁvfeaéwﬁwgfea?—mxmﬁaﬂsﬁ
;A)mmwm——m%ﬂzzom
(B)%@?WW——Wﬁﬂzzola
(C)éﬂ‘c’f@'ghmﬁsgﬁs—fgwﬁﬂzzols

(D) yfaRgTs 95 A HaT - ufg®T 2Ae 2013

v & foge fie & gaahdT o fagr wrer A

(A) Ufen™&T, HETACBT, 587

(B) ufenraT, AT, HBJIZHBT

() ufenrmT, 5797, Hi e, TUTas’ (D) ufenrsT, die, 5787
5 fafimt 27 A& &4

{A) la, 2¢, 3d. 4b

(B) 1a. 2b, 3c,4d () 1b. 2d, 3c. 4a (D) 1d. 2c. 3b. 4a

1o~ T AT GireT @ Qu-fresy AT

(A) fsnrfe wfog fedt

a’B)HHTﬂHWfEWfE{U:r

e;C)mfua—;TH,Frﬁrem—;reﬁ%nwéﬂ?fqﬁ (D)aﬁ%fgﬂ?m@'mﬂ‘%’ﬁrf{ﬁ
gﬁf%ﬂag‘ugmfgm?ﬁawwﬁfa@ﬁ—
aA)mH—ﬁw%qemm?hmmﬁammeW§ama‘u

FioaT H

(B)ﬁﬂgﬁuwméyeﬁmwww
(c>@w@@m@mw@wm@ﬁmmmmm

& fardT
(D)Wﬁmﬁm@?ﬁmmﬁmﬂ%ﬁgwaﬁ
mwmmamm@mmﬁwwm
{A) AT BTE Bidg (B) TTeT Il &TIT
(C)m™d. HI. €3 (D) 7H. & JrdT
mﬁmﬁﬁw%ﬁﬁmémfﬁqmwﬁ:
(A) nHEf ST 7S (B) IO BTIT
(C)Ft. 3. TG D) Ut . HfgsTE

D - Page 21 of 30



75.

76.

78.

79,

80.

81.

B2,

g84.

85.

86.

8.

mwfawﬁaaw?gwég@mm%:

(A) fregt ot (B) faarast (C) WIBAII (D) &TIIATIHT
s yRgd O

&) feest wid 975 € HeaTd! YRS (B) FTeedFH &7 Head! Ya'HE
(C) @I T ATAS YTHS (D) Tt FgEd =t FeaTd! falge
gragt g-fewe feg Aog-§% fao &

(A) FUSH Jd€ (B) ATEU™® (C) AAE (D) ToH

s Har o 59 fod ¥ ufgd e § Wi I8

(A) JH& 7% (Question Hour} BY Ageafes 7% (Public Hour!

(C) g & (Zero Hour) (D) femrfogg &% (Privilege Hour)
f05 v feg ASARoAT & saTarand fedl €9 CEACEICIEIE

(A)1921-31 (B) 1911-21 (C)1941-51 (D) 1931-41

Wﬁmﬂmwwm@mmwngmwm@z
Eﬁﬁﬂaﬁﬁgﬁa‘zﬁﬁ‘:

(A) @l Aead (B) w UT. AGETS

(Cy IfaniraT Aaa@ (D) Gusaz feg el <t &t T
ﬁRBIeﬁmﬁhmwwfe?Wifwe*@W@@m@wwa

__=

aga .

(A) T fed (B) feud!s

(C) Farfea w3 feudts €< df (D) et ygr= &1 =T

frg=T 3a7 femre rdt g

(A) 994 (B) 3ufex {C) HEFHT (D TTERTEE
2t faw &% wrg BT T

(AY & (B)se3 (C) IS REE]
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11.

12.

13.

14.

Write your roli number on the Question Bookiet and also on the OMR Answer Sheet only in
the space provided and nowhere eise.

Enter the Question Booklet Number and Series on the OMR Answer Sheet by darkening the
correspending bubbles with Black/Biue Bali Point Pen only.

To open the Question Bookiet, remove the paper band gently.

Check that the Question Baoklet contains 150 Objective Type questions with multiple choice
answers. In case of any discrepancy, inform the invigilator within 10 minutes of the start of

test.

Each question has four alternative answers A, B, C & D, of which only one is correct. Darken
only one bubble A, B, C or D, whichever you think is the correct answer, on the OMR Answer
Sheet with BLACK/BLUE BALL POINT PEN only.

All questions are of 1 mark each. THERE IS NEGATIVE MARKING. 1/4 marks will be

deducted for every wrong answer.
Rough work is to be done on the guestion bocklet only.
Do not make any identification mark on the OMR Answer Sheet or Question Booklet.

The Answer Sheet is designed for computer evaluation. If the instructions are not followed
properly, the candidate alone shall be responsibie for the resultant ioss so caused.

After the test, hand over the Question Bookiet and OMR Answer Sheet to the invigilator on
duty.

Telecommunication equipments, such as calculators, pager, cetlular phone, wireless & blue
r00th devices etc. and weapons are not permitted inside the examination hall.

Nothing is to be copied/noted from the given OMR Answer Sheet and Question Booklet, and
be taken cut of the Examination Hall. Any candidate found decing s¢ would be expelled from

the examination.

A candidate who creates disturbance of any kind or changes his/her seat, or is found in
possession of any paper possibly of any assistance, or found giving or receiving assistance, or
found using any other unfair means during the examination wili be expelled from the
examination. The decision of the Observer shall be final.

The candidates will not be allowed to leave the Examination Hall before the expiry of time.
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